CHM 152 Quiz 8b 25 Pts Fall 2005 Name:__ Keg
SHOW ALL WORK TO RECEIVE CREDIT.

1. 110 Pts) Write an equation showing what happens when each of the following compounds is
introduced into water. Then for each of the salts show any hydrolysis of the ions that would occur in

an equilibrium equation and state if the resultmg solution would be neutral, acidic or basic. I{ 0o )
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2,13 Pts) Calculate the pH of a 0.20 M solution of KCN. (K, (HCN) = 49 X 10;)( 7 um{af gocy
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3. (10 Pts) Calculate the pH of asolution that 15 0.15 M in propionic acid (HC3HsO, K, =1.3x IO'S)J

and 0.030 M in sodium propionate (Na C3H502) ’ [{2.0 . ~N
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